Seitelvon 3

493670 - RAS 180.03 E

http://ekat.festool.de/EK AT/jsp/main.jsp?sel ect=currentl mageAndPartlist& doAction=... 01.10.2012



Seite2von 3

Pos|| Teile Benennung Menge||Preis |[Wdhrung
- ohne
Nr. MWSt.
[1 |[440676  |lAnker 230v IE || 154,70][EUR |
|2 ||447519  |[Feldpaket 230V IE | 58,99]|EUR |
[3 |[437616  |[schalter 230v IE || 34,90|EUR |
|4 |l457638  ||Kabel EU IE || 19,56|[EUR |
[5 |[458226  |[Motorgehsuse IE | 37,57|Eur |
l6 |[486775  |[Electronic 230v IE || 90,02|EUR |
[7 |[437611  |[Handgriff IE || 24,08|EUR |
|8 ||228714  |[Linsenschraube 5,0 x 70 mm |4 | o,71][Eur |
lo |[437613  |[Linsenschraube 4,0 x 25 mm 2 | o,71]Eur |
[10 |[412005  |[[schraube; PT 40x30 KA IE | o,71|[Eur |
[11 |[459116  |[Getriebegehause IE | s8,73|EUR |
[12 |[493710  |[Getriebe IE || 106,64|EUR |
[13 |[469943  |[Dichtring IE | 11,50|[EUR |
l16 |[411762  ||Dichtring IE | 1,80][cur |
[17 |[437615  |[sinterlager IE | 2,63|EUR |
|19 |[474442  ||Distanzring 0,25 MM IE | 1,27][eur |
|20 ||411846  |[Distanzring 0,2 MM IE | 1,27][EurR |
[21 |[411847  ||Distanzring 0,3 MM IE | 1,27|Eur |
|22 ||411758  |[Lagerdeckel IE | 23,45|[EUR |
[23 |[411759  |[Getriebewelle IE | 38,34|EUR |
[24 |[411742  |[Ring IE | 228][EUR |
|25 |[411752  |[0-Ring O-Ring 68 x 2 IE | 2,79|[Eur |
|26 ||411761  ||Tellerfeder IE | 3,57][EurR |
[27 |[401612  |[Rillenkugellager IE | 833|Eur |
|28 |[200671  ||zylinderschraube M5 x 16 |4 | o,60|EUR |
[29 |[437617  |[schalthaken IE | 1,42|[EUR |
|30 ||437618  |[Druckfeder IE | 1,01][EUR |
[31 |[437619  |[Druckknopf IE | 1,59|Eur |
[32 |[437620  |[Filzring IE | 0,77]EUr |
[33 |[440660 |[Kondensator IE | 9,52|EUR |
[34 |[411745  |[Kabelschutzschlauch IE | 3,26|EUR |
[35 |[411747  ||Kabelschelle IE | 1,10][EUR |
[36 |[219071  |[Linsenschraube 4,0 x 12 mm |2 | 0,62]EUR |
[37 |[411698 |[Lagerring IE | 1,92|Eur |
[38 ||462208  |[Lagerdeckel IE | s5,95|[EurR |
139 ||411756  |[Luftfihrung IE | 4.17]|[EurR |
[40 |[485202  |[kohle (Paar) 230V IE || 20,60|EUR |
|41 ||437610  |[Kohlehalter 230V |2 | 7.48][EUR |
|42 |[437624  |[Lasche 2 [ 1,27]Eur |
|43 ||219071  |[Linsenschraube 4,0 x 12 mm |4 | o,62][EUR |
|44 |[462218  |[Kohlehalterabdeckung (Paar) 2 | 2,07|Eur |
|45 ||469944  |[Rillenkugellager IE | 10,58][EUR |
|46 |[401518  |[Rillenkugellager IE | 491]EUR |

http://ekat.festool.de/EK AT/jsp/main.jsp?sel ect=currentl mageAndPartlist& doAction=...

01.10.2012




Seite3von 3

|47 ||437626  ||Linsenschraube 5,0 x 35 mm la || o77eur |
|48 ||203806 ||Linsenschraube M4 x 8 ||2 || O,64||EUR |
l49 ||437627  |[Fiugel IE | 6.79][EUrR |
[50 |[437628  |[Linsenschraube 4,0 x 55 mm 2 | o0,71]Eur |
|51 |[437629  |[Dichtplatte IE | 2,12|EUR |
[52 |[440655  |Platte IE | 1,80]EUR |
|53 ||[440656 |[Dichtplatte IE | 1,34]EUR |
[54 |[441386 | Magnetring IE | 7,24|Eur |
|55 |[442102  |[Luftabweiser IE | 1,47|EUR |
[56 |[486703 ||Arretierknopf IE | s.88|EUR |
|57 |[443249  |[0-Ring IE | 1,42|EUR |
[58 |[443247  ||Druckfeder IE | 1,42|[EUR |
[59 |[444211  |[Haube IE | 16,62|EUR |
|60 |[486706 | Ablageleiste IE | 4,08|EUR |
l61 |[774303  |[zylinderschraube M4 x 12 IE | o0,77][eur |
|62 |[487865  |zG-RAS/RO IE | e,60|EUR |
|63 |[441308  |[Gehause IE | 62,04]EUR |
|64 |[441309 |[zahnring IE || 40,85/ EUR |
l65 |[441311  |[Deckel IE | 11,65]EUR |
|66 ||228572  ||Linsensenkschraube M4 x 10 |4 | o,60|[EUR |
[71 |[441282 | Griff IE | 17,88|EUR |
|72 ||441312 |[Rohr IE | 13,67][EUR |
[73 |[441279  ||zylinderschraube IE | 3,80|EUR |
|77 |[200602 |[sechskantmutter M8 IE | o,60|EUR |
|78 |[441682 |[stirnlochschlissel IE | 833|EUr |
|79 |[485274  |[Bursteneinsatz fiir RAS AHP-RAS D180 IE || 35,50|EUR |
[80 |[485253 |[schleifteller ST-STF-D180/0-M14 W IE || 39,60|EUR |
|80 |[485296 |[schleifteller ST-D180/0-M14/2F IE || 39,60|EUR |
[81 |[469941  |[0-Ring IE | 1,25]EUR |
|82 |[469942 ||Dichtmanschette IE | 4,26|EUR |
[83 |[219024  |[zylinderschraube 2 | o,58|EUr |
http://ekat.festool.de/EK AT/jsp/main.jsp?sel ect=currentl mageAndPartlist& doAction=... 01.10.2012




